Graph a quadratic w/out a calculator

Given an equation: Find

1. f(x)=(x-3Y+5
vertex: (2,5
maximum /

-intercept: (0 , |¥)
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4. f(x)=5(x+1)*-3
vertex: ( , )
maximum / minimum
y-intercept: ( , )

7. f(x)=(x+2)
vertex: (=,0)

maximum A )
y-intercept: (4, &)

7.,

(a) vertex,
(c) y-intercept,

2. f(x)=—1(x-2)" +1
vertex: ( , )
maximum / minimum
y-intercept: ( , )

5. f(x)=-2(x-5)

- vertex: (5,0) -

' minimum

y-intercept: (O ;750)

-2{c=-5
-—, (_1-
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8. f(x)=x"+3
vertex: ( , )
maximum / minimum
y-intercept: ( , )
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Name: K‘C_,\,/

period:

(b) if the vertex is a maximum or minimum,
(d) then, sketch a rough graph

3. f(x)=3(x+4)" +2
vertex: Y4, R

maximum r
y-intercept: 50 -\—"\1\ ¥¥
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6. flx)=(x—-4)Y -1
vertex: ( , )
maximum / minimum
y-intercept: ( , )

9. flx)=2x"~1
vertex: (O ,-]
maximum{ _
y-intercept: ( 0 ,-] )




2 .
Given an equation: Rewrite the equation in the form of fxX)=(x—-h)y +k

10. f(x)=x*+6x+1
(=) -1

F(x)= 2% +6x

S =(

f&)=(

vertex: (

maximum / minimum
y-intercept: (

(a) vertex,
(c) y-intercept,

Y +1
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12. f(x) =5 +4x-5
($)*= (D™=
Lo = x2edx -5t
PO =2 (R42) 5 -9

vertex: (-259
maximum / i

y-intercept: ( o %)

(b) if the vertex is a maximum or minimum,
(d) then, sketch a rough graph

11. f(x)=x*-2x-8
2
‘P(X): xl—gx r_l -g=~1

Pix) = (x-2)7-9

vertex: (& ,-9)_.
maximum @
y-intercept: ( p ,-%
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13. f(x)=x"—6x+4

vertex: ( , )
maximum / minimum
y-intercept: ( , )




